
INSTALLATION  INSTRUCTIONS 88634 
Rev B 

                     Rancho Fog Light Mount Kit RS6234B  
                      For Rancho Front Bumper RS6220B 
                        Jeep Wrangler JK 2007 – 2012 

READ ALL INSTRUCTIONS THOROUGHLY FROM START TO FINISH BEFORE BEGINNING INSTALLATION 
 

 
Parts List 

P/N DESCRIPTION QTY. 
176657 Fog Light Mount - Left 1 
176658 Fog Light Mount - Right 1 
860708 Harware Kit 1 
   603601    3/8 – 16 x 1 HHCS 4 
   7604    3/8 – 16 Nylock Nut 4 
   603508    3/8 SAE Washer 8 
   770248    #8 x 5/8 Self Tapping Screw 8 
88634    Instructions 1 

1)  Remove Rancho Bumper RS6220B if Installed. 

2)  On earlier versions of RS6220B holes will need to be 
drilled to mount the Rancho Fog Light Mount Kit. 

3)  Line up and clamp left (driver side) bracket 176657 on 
left gusset of Rancho Bumper RS6220B. Align front 
face of bracket (as it would sit on vehicle) 2” from and 
parallel to inside face of front of bumper. Align top edge 
of bracket ¼” from the inside face of the top of bumper. 
Center punch and drill two 13/32” holes.  
See illustration 1. 

4)  Using supplied 3/8 hardware, bolt bracket 176657 to 
bumper gusset.  

5)  Line up OE fog light with holes in bracket 176657.  
Check for sufficient clearance between light and 
bumper. See illustration 2. 

6)  Using four of the supplied self-tapping screws, attach 
light to bracket. Do not over torque screws. 

 
Illus. 1 

 

 
Illus. 2 

7)  Repeat steps 3 through 6 for the right (passenger side) 
bracket 176658. 

8)  Reinstall Rancho Bumper RS6220B. 

9)  Reattach wire harness to lights. 

¼” from Top of Bumper 

2” from Front  
of Bumper 


